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B DE1] SHE(mm) BE(mm) BE(mm) BHRE(m)| TEEN23°C(MPa) (2] #IREFH23°C(MPa) 4B (mm) 100K EE(kg) TIERE(C)
PA6040025010] 4.0 2.5 0.75 200 3.5 11.0 30 0.90

PA6060040010] 6.0 4.0 1.00 100 3.0 10.0 45 1.80

PA6080060[1[] 8.0 6.0 1.00 100 2.0 7.0 65 2.50 -10~70
PA6100075]] 10.0 7.5 1.25 100 2.0 7.0 75 3.90

PA6120090(](] 12.0 9.0 1.60 100 2.0 7.0 100 5.70
PA12040025010] 4.0 2.5 0.75 200 2.5 7.5 25 0.80
PA12060040010] 6.0 4.0 1.00 100 2.0 7.0 35 1.60
PA1208006001] 8.0 6.0 1.00 100 1.5 5.0 55 2.30 -40~70
PA121000750J, 10.0 7.5 1.25 100 1.5 5.0 75 3.50
PA121200900J, 12.0 9.0 1.50 100 1.5 5.0 75 5.10
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PA6 FRIEE FTIEBHZERBSL PARRFRBETIABHZERBIL
BE | 20°C | 40°C | 60°C | 80°C | 100°C | 20°C | 30°C | 50°C | 60°C | 80°C
BHOt | 100% | 74% | 57% | 47% | 40% | 100% | 83% | 75% | 64% | 47%
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RISE [F1] HE(mm) AR(mm) | EE(mm) S8KRE(m) I{EEH 23°C(MPa) FHIREH 23°C(MPa) 4L B (mm) 100K E 8 (kg) TIEBE(C)
UN54D[]060040(1C] 6.0 4.0 1.00 100 1.0 4.0 12 1.93
UN54D[1080050(1] 8.0 5.0 1.50 100 1.0 4.0 18 3.66 20-70
UN54D[1100065[1C1]  10.0 6.5 1.75 100 1.0 4.0 20 5.44 B
UN54D[11200800000 12.0 8.0 2.00 100 1.0 4.0 20 7.56
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